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The figures in the margin indicate
] full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x5=5

weTe Al ST Mo Tes fordl 3

(a) An operating system is ‘a system
software. (State true or false)

Teicabe B5Cod @i oo software.
(% 7 5% [&9)

(b)) The binary number 110101 in octal
format is : (Fill in the blank)

Contd.




()

(@)

(e)

110101 binary 3G octal format ©

= | (a7} 12 279 )

The range of numbers which can be
stored in a char type variable is :

«Bf char type bel@® 3K 7l K s
PGRA

) -99 to +99

(i) —-128 to +128

fiii) - =128 to +127

fiv) None of the above
(Choose the correct option)

(A [eEeo) qR Clred)

Precedence of arithmetic operators are
higher than assignment operator.
(State true or false)
Arithmetic S?/l(4699 Precedence of
arithmetic SI?CEGIOCE @RI
(8% & S&% [a73)

library function is used for
dynamic memory allocation.
(Fill in the blank)

Dynamic memory allocation ¥4I _
library TIbs IR €1 27 |
(3T 9% 7 #0)
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Answer any five of the following questions :

2x5=10

weTe il e Reprea oI Ted ol ¢

(@)

(b)

(d)

(e)
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What are the major components of a
digital computer ?

fCfErcter SMIToRR 27 SNife@s &2

What are the advantages of 2’s
complement over 1’s complement ?

1’s complement ©(F 2’s complement I
AR« 2

List any two differences between ASCII
and Unicode.

ASCII i Unicode-3 ez 75 #iiefy fovat |

What are the differences between
compiler and interpreter ?

Compiler ®li< interpreter SIS el |

What is meant by associativity of
operator ? :

Operator ¥ associati{rity @ & =g

What is L-value and R-value ?

“ L-value 9% R-value f&?
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(g9 What is the difference between break
: and continue statement ?

Break @i continue statement § "HW@H
&2

(h) What are the differences between
malloc () and calloc () function ?

malloc () ©I% calloc () FBAS AIFIER
ety ‘

(i) What is the difference between
structure and union ?

Structure 9t union ¥ ‘?ﬁm fora |
) What is function prototype ?
: Function prptotype']%?
3. Answer any four of the followihg questions :
5x4=20
were it SRR Rzt BB TeT e ¢

(a) Draw a flowchart to find the largest of
three input numbers.

VB! input T TR BIGICH! SRR Bl
_ flowchart St |
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(b)

()

(d)

(e)

_(g)

What are the different datatypes
available in C language ? :
C language © ¥l fqfes datatypes (9
e

Explain different types of operators
available in C language.

C language © 4 Jfen 2S99 operators
@RT 901 1 |

Differentiate call by value and call by
reference with suitable example.

Call by value ¥i% call by reference <
AL SHIZICEIE FTCe I 4 |

Write a recursive funétion to find GCD
of two integers. o
ol S1e AT GCD BfeTaRCsT @bl recursive
<o fovall | '

What is a pointer ? List the permissible
operations on pointers.

Pointer & ? Pointer 3 #57® PRI 7=l
frarTres Sifere ege 91 |

Write brief description of any five string
manipulation functions. :

String =E@d Ricic #ie0) FIHaE B
Fefar forait |
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What is preprocessor directive ? Write
brief sdescription -bf. any three
preprocessor directives.

Preprocessor directive 2 Ricwie o)
preprocessor directive I 53 3l 1211

Answer any one of the following questions :

10x1=10

Rzl <Y 2 Tex fE

(@)

(b)

()

What is format specifier ? Describe any
ten format specifiers.

Format specifier &2 R 7?%57 format
Speciﬁer 3 9 vt |

Write a program to input two matrices
and find sum and product of both.

¥l matrix 2990 IR flaey (i o

S[FeITe SeRIRce bl celiets foral |

Write a C program to display. the
contents of a file. Also display the
number of characters and lines in the

file.

G5! F2ETS | AP (MR GBT C (el
fordl | FiZeCEe A NREE WA W *NfRET
RAMS (RN |
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{d) Write functions to perform following

operations on string :

String © W=kRe fFrmE skt Fos

forali

(i) Reverse the string

(i) Calculate number of vowels in the
string
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